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Use your multiplication chart 



Use your keyword chart to determine what operation 

to use. Highlight the numbers and keywords. 

Choose a story problem that matches 3 x 5 = 15 

a. There were 3 ladybugs on a leaf. Five more crawled on to the leaf. How many ladybugs are there 

now? 

b. There were 3 leaves. Each leaf had 5 ladybugs on it. How many ladybugs are there in all? 

c. There were 5 ladybugs on a leaf. Three crawled off. How many lady bugs are there now? 

d. There were 15 ladybugs. The same amount was on each of the 3 leaves. How many were on each 

leaf? 

  398 

+127 

 381 

-357 

Equation: ____________________________________________      Answer: ________ ____________ 

                             Number      Label (item)  

 



 
  

Title Choices for side:   Title Choices for bottom: 

Number of Kids   24, 36, 22, 18 

Number of Books   Adventure, Fantasy, Science, Sports 

Number of Hours   Max, John, Mary, Lisa 

 

Title Choices for Top:   Number Choices for Side: 

Favorite type of book   4, 5, 6, 7, 20, 21, 22, 23, 24, 25 

Favorite field trip   4, 6, 8, 10, 20, 22, 24, 26, 28, 30 

Favorite type of TV show  4, 8, 12, 16, 20, 24, 28, 32, 36, 40 



 
 

 

 

 

 

 

 

 

 

 
Equation for adventure and fantasy books put together: ______________________________________ 

 

 

Equation for science and sports books put together: _________________________________________ 

 

Equation for difference between adventure and fantasy books and science and sports books:  

 

 

___________________________________________________________________________________ 

 

Answer: ________ ____________ 

                Number      Label (item)  

Equation: ____________________________________________ 

 

Answer: ________ ____________ 

                Number      Label (item)  

 



A quadrilateral has 4 sides. 

 

A trapezoid has 4 sides, with 

only 1 set of parallel sides 

Choose the correct answer: 

a. It has 3 sides which makes it both a trapezoid and a quadrilateral. 

b. It has 4 sides which makes it both a trapezoid and a quadrilateral. 

c. All quadrilaterals and trapezoids look exactly like shape number 8. 

Choose the correct answer: 

a. I agree because it looks like a triangle. 

b. I agree because it’s not a rectangle or square. 

c. I disagree because it has 4 sides and any 4 sided shape is a quadrilateral. 

d. I disagree because all quadrilaterals look exactly like shape number 5. 

There are 3 correct answers 

Choose the correct shape 







 

1,000 milliliters = 1 Liter 

 

Choose an equation:   Solve the equation you chose: 

a. 825-1= __ 

b. 825 + 1 = ___    

c. 1,000 – 825= ___    

d. 1,000 + 825= ___       

Choose an equation:    Solve the equation you chose: 

a. 125 + 15= __ 

b. 125 - 15 = ___    

c. 15 + 15 + 15 + 15 + 125 = ___    

d. 125 – (15 + 15 + 15 + 15) = ___       


